






E((L+3)(J+3))-E(LJ)<< 

E(LJ) <     < E((L+3)(J+3)) 
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Assumption: 2% transmission through HIE-ISOLDE 

Nucleus Half-life 
[s] 

Target 
Material 

Ip 
[mA] 

PSB 
or 
SC 

ISOLDE 
Production 

Yield 
[Ions/mC] 

Yield at 
Coulex target 

[Ions/s] 

142Ba 642 UCx 1.5 SC *1.1x108 **2.2x106 

144Ba 11.5 UCx 1.5 SC *1.0x107 **2.0x105 





Target Time [h] Transition Eg [keV] Counts 

58Ni 16 2+ -> 0+ 359.6 513470 

(40-65o) 4+ -> 2+ 475.2 30140 

3- -> 2+ 966.9 350 

1- -> 0+ 1326.5 <10 

208Pb 24 2+ -> 0+ 359.6 248430 

(40-70o) 4+ -> 2+ 475.2 79270 

3- -> 2+ 966.9 400 

1- -> 0+ 1326.5 <10 



Target Time [h] Transition Eg [keV] Counts 

58Ni 80 2+ -> 0+ 199.3 204350 

(33-70o) 4+ -> 2+ 330.9 13000 

3- -> 2+ 639.0 300 

1- -> 0+ 759.0 230 

208Pb 120 2+ -> 0+ 199.3 305170 

(40-70o) 4+ -> 2+ 330.9 77900 

3- -> 2+ 639.0 280 

1- -> 0+ 759.0 240 





IS475 campaign: Example Coulex of 220Rn 




